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Statistics Methods

Method
statistics. harmonic_mean()
statistics.mean()

o fian()

Description

Calculates the harmonic mean (central location) of the given data
Calculates the mean (average) of the given data

Calculates the median (middle value) of the given data
Calculates the median of grouped continuous data

Calculates the high median of the given data

Calculates the low median of the given data

Calculates the mode (central tendency) of the given numeric or nominal data

Calculates the standard deviation from an entire population
Calculates the standard dewiation from a sample of data
Calculates the vanance of an entire population

Calculates the vanance from a sample of data




b1-ch3-9.py

import numpy as np

import pandas as pd

ch2_1 = np.genfromtxt("http://kanggc.iptime.org/book/data/ch2_1.txt")
ch2_1

print("Data of ch2_1is: ",f\n{ch2_1}\n")

ch2_1 p = pd.Series(ch2_1.flatten())
ch2_1 p
print("Data of ch2_1_pis: ",f\n{ch2_1_p}n')

import statistics # statistics packageS O| &
m_ch2_1 = statistics.mean(ch2_1_p)
me_ch2_1 = statistics.median(ch2_1_p)
mo_ch2_1 = statistics.mode(ch2_1._p)
var_ch2_1 = statistics.variance(ch2_1_p)
sd_ch2_1 = statistics.stdev(ch2_1_p)
ch2_1_p.describe()

print("Mean of ch2_1is :", m_ch2_1)
print("Median of ch2_1 is :", me_ch2_1)

print("Mode of ch2_1is:", mo_ch2_1)
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(RHOIM Al%)

print("Variance of ch2_1is:", var_ch2_1)

print("Standard Deviation of ch2_1is: ", sd_ch2_1)

print("Summary Statistics of ch2_1_pis:", f\n{ch2_1_p.describe()}\n')
AN Summary i of ch2 1 p is :

count

import seaborn as sns # seaborn packageZS 0| &

sns.histplot(ch2_1_p, fill=False).set(title="Histogram of ch2_1_p')/
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statistics as s

import statistics

import math

x=[10, 2, 19, 24, 6, 23, 47, 24, 54, 77]

X

print("x list is : ", f\n{x}\n")

xi = [1/10, 1/2, 1/19, 1/24, 1/6, 1/23, 1/47, 1/24
,1/54, 1/77]

print("1/x listis : ", f\n{xi\n')

xg = math.prod(x)

print("Product of x is :", xg)

mean_x = sum(x)/len(x)

print("Mean is :", mean_x)

harmonic_x = (1/(sum(xi)/len(xi)))

print("Harmonic Mean is :", harmonic_x)
geometric_x = xg**(1/len(x)) /

print("Geometric Mean is :", geometric_x)
X_m = statistics.mean(x)
x_h = statistics.harmonic_mean(x)

X_g = statistics.geometric_mean(x)

print("Mean of x is :", x_m)

print("Harmonic Mean of x is :", x_h)

print("Geometric Mean of x is :", x_g)

v

Mean of x is
Harmonic
Geometric
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(CHOfl A A =)

b =[30, 60]

b_m =s.mean(b)

b_h = s.harmonic_mean(b)
print("Mean of b is :", b_m) Mean of b is : 45
print("Harmonic Mean of b is :", b_h) Harmonic Mean of b is : 48.8

c¢=1[120, 130, 118]

c_m =s.mean(c)

c_g = s.geometric_mean(c)
print("Mean of cis :", c_m)

print("Geometric Mean of cis :", c_g)

g =((9204/5000)**(1/3)-1)*100

print("compound annual growth rate(CAGR) of cis :", g) compound annual growth r
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